200 FAnal &
KEY

v

Part I:
1. Whatisthe 5-n

Moe = 21
Nl= 2<8S

2. What is the mes:

3. Answer the following questions based on your pivot table.

randomly select

a. What is the probability the person is a male? (6 points)

b. Whatisthe p

¢.  What is the probability that the person is both male and

d. What is the probability that the person is male given that

2, 2%3
<= (1,492 6S

umber summary of Age? (6 points)

Mediae = 40y
K>= Y4835

in and standard deviation of Salary? (6 poin : )
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ppose a survey respondent is
ad from the pool.

[8/30 - 3/5

robability that the person is has opinion 4? |

/20

points)

s opinion 4? (6 points)

4/60 - L/IS“

ey have opinion 4? (6 points)




e. What is the probability the person has opinion 4 given th

4/18 - 2/7
|

robability that the person either is male or Has opinion 4? (6 points)

t they are male? (6 points)

f.  Whatis the

By |2

8. Are the variables Gender and Opinion independent? Whylor why not? Show math to support
your conclusion. (10 points)
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4. Use the bar graph to describe something about how the opinipns of men and women differ in
this survey. (6 paints)

5. Using your histogram of age, describe the shape of the distribdtion
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. (5 points)




6. Looking at the box plot (

|

and descriptive stats) of sala ry, ist 2re any evidence of a skew? Would

you describe that evidence as strong or weak? (6 points)
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7. From your pie g
percent of the s

w
Yedir | D ok du

raph of opinions, which opinion ranking appdars to be the least common? What
urvey takers reported that opinion? (6 pointg
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8. Looking at the scatterplot of Smoking vs. Blood pressure, re

and R? value. (8

Y=

9. Which relationsh

(3%
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pprt the linear regression equation

points)

0.46>2%+26.217 |

B = 0.40&8>

i
P appears to be stronger? The relationship Between alcohol use and blood

pressure, or smoking and blood pressure? (6 points)

10. What is the R? va
of the data. (8 po
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11. What is the mean and standard deviation of the probabih‘ty: istribution provided? (8 points)

M= 1S ag:= 1R

12. Were you able t|o find a p value that creates a binomial distr ution identical to this data?
Report the p vaiiue here. (6 points) |
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Calculations in Excel: (1) 40 points, (2) 28 points, (3) 15 points.

Part Il

1. Suppose that the annual return on XYZ stock follows a normalidistribution with mean 14% and
standard deviation 2.1%.

a.  What is the probability that XYZ’s value will decrease dur

| less than 0%) (8 points)

g the following year? (i.e. percent
return will be

3l x 10"

b. What is the probability that XYZ’s return will be greater th@n 15%? (8 points)
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€. For what percent return value does XYZ stock have onl

Yy a 3% chance of exceeding that
value? (8 points)
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d. Whatis the probability of XYZ's rate of return will fall b 3tween 10% and 18%? (8 points)
5
14.32%,

| l% Suppose that Cqmdell Computer receives its hard drives fror
disk drives received by Comdell are defective.

a. Comdell has adopted the following policy: It samples 50 hard drives in each shipment and
accepts the shipment if all hard drives in the shipment afe not defective. What fraction of
shipments will Comdell accept? (8 points)

Diskco. On average, 3% of all hard

248
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b. Suppose instlead that the shipment is accepted if at most
defective. What fraction of shipment will Comdell accep

|
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55.5%

¢.  What is the probability that a sample size of 50 will conta
|

ne hard drive in the sample is
? (8 points)

at least 10 defectives? (8 points)
i
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Upload your com:pleted Excel files to the Final Exam (to be grgded) submission box in

Blackboard, and submit your completed paper exam to your ifistructor. You may not modify

|
anything once thc;a exam is submitted.

P(AorB) = P(f'p + P(B) - P(A and B) PR

u=EX) =3 xiip(xi) o2

#bmomi;ai =np

ar(X) = X(x; — w2p(x;)

c"ginmm'al =np(1-p)




